Question (1)
Directions (1 — 3) : In each of the following questions, select the related letter/word/ number
from the given alternatives

fdar(1-3) : oot F ¥ v s weat 7 Rw 71w fawrent & wrafla srarv/areg/wEan w1 giav)
CURE : DISEASE : : HEAL : ?

STl : UIT: $X ST : ?

(A) ILLNESS/A#RT  (B) INJURY/dIE

(C) RECOVER/EGE2T (D) SICK/31Eaey

Correct Option : B

Explanation :
Cure is treatment of Disease in the same way Heal is referred as treatment of an Injury.

Question (2)

Pesticide : Plant: : ? : ?

hreaTe : gier 2 : ?

(A) Medicine : Cure/3iufer :3uaR

(B) Injection : Fever/3oieel : SaX

(C) Vaccination : Baby/€YehTehioT : fare]

(D) Sinarest : Cold/fAeRTe : SJhTH

Correct Option : C

Explanation :
Pesticide protects the plants and vaccination prtoects the babies.

Question (3)

63:9::68:7?



(A)14 (B)8
(C)6 (D) 13

Correct Option : A

Explanation :
6+3=9insameway 6 +8=14

Question (4)

Directions (4 - 6) : Find the odd word/letters/ number pair/number from the g iven
alternatives.

fadar(4-6): fw arv fasrent & & fawer ereq /3raw /HEAT /7w | HEAT F AT |
(A) Book/frdt®@  (B) Paper /aTaTet

(C) Pen [&old (D) Pencil/dT&er

Correct Option : A

Explanation :
Except Book all are stationary items.

Question (5)

(A) Barber/aTS  (B) Carpenter /935
(C) Tailor /eSif (D) Blacksmith/dgR

Correct Option : A

Explanation :
Except Barber all use raw material.

Question (6)



(A)AG  (B) WA
(C)ET (D) 1Q

Correct Option : C

Explanation :
AG = Difference = 6

WA = Difference = 22
ET = Difference = 15
IQ = Difference = 08

Difference between ET is odd number.

Question (7)

Arrange the following words as per the order in the dictionary.

T ereal T eregehrer & 3HTaR e H T |
1.RESIGN 2. REPAIR

3.RESIDUE 4. RESEARCH

5. RESCUE

(A)4,5,3,2,1 (B)25,4,3,1

(C)2,5,4,1,3 (D)5,4,3,1,2

Correct Option : B

Explanation :

|B] Repair — Rescue — Research — Residue
2 5 4 3

— Resign

1

Question (8)

Directions (8-10) : In the following questions, a series is given with one terms missing.
Choose the correct alternative from the given ones that will complete the series:



fadar(s-10): fwfaf@a weal & v srgwer Rz aran | Row arw faret & @ a7 @) wew gfaw it
ITHHA HT A |
1,9,17,33,49,73,
(A)93  (B) 95
(C)97 (D) 99

Correct Option : C
Explanation :

1 9 17 33 49 73[97]

+8 +B +16 +16 #2324 #24

Question (9)

2,5,7,12, 19,
(A)21 (B) 26
(C)29 (D)31

Correct Option : D

Explanation :
2+5=7

5+7=12
7+12=19
12+19=31

Question (10)

_bccb_abc_baa_c
(A) abcc
(B) aach
(C) acbc
(D) bcac

Correct Option : B
Explanation :



abc/ cba/ abc/ cba/ abc

Question (11)

Direction {11-13) : In question no 11 to 13,
select the missing number from the give

resSponses.

fador (11-13) : woa =m=m 11 % 13 ¥, fau o fammt
H ¥ faea wen i

WO
S,

(A) 122 B) 58
[C) 130 (D) 125

Correct Option : C
Explanation :

Question (12)

10| 2 |32

(A) 3 B 7
() 9 D) 5




Correct Option : A
Explanation :

3 23=10
- +93=
2

6,4
5 + 43 =87

10 ...
> +3*=32

Question (13)

(A) 10 B 20
i€ 5 (D) 35

Correct Option : A

Explanation :
20 _
(A)3+2+10+5= > - 10 = middle number
in figure.

20
4+?+6+3=? = 10 = middle number in

figure.

20
Snthat4+8+3+5=?=lﬂ

Question (14)

Ashok walks 10 metres towards North from his home, turns right and walks 5 metres, then again
turns right and walks 10 metres, then turns left and walks 3 metres. Now he turns 180° clockwise,

then which direction is Ashok facing ?

&} e 5 HeX Tera §[agT & ST gHHT 3 Fie ToidT § [Af 97 5T & 180° afAIUI g ot I



3HT HY fha feem A & 2
(A) Eastqd  (B) West/afas

(C) North/3@X (D) South/gf&ror

Correct Option : B

Explanation :
North
F Y
5o
10m4 $10m
3 m
West# {Flom cl4 +East
N
v
South

Question (15)

Pointing towards a person in a photograph, Anu said, " he is the only son of the father of my sister's
brother." How is the person related to Anu ?

Waﬁiﬁwwﬁaaﬁrmawmgﬂa@ﬁw.”a—s'ﬂfrag;rasméasmasrgaﬁﬁaaa
81"de ATkl 37e] & fohdy JohR eIl & 2

(A) Anu's Father/31e] & Taem
(B) Anu's Brother/3ie] o TS
(C) Anu's Maternal Uncle/31e] & HTAT

(D) Anu's Grandfather/37] & gaTer

Correct Option : B
Explanation :



Anu's
sister

|[Photol+— Anu |

So, Photo 18 Anu's brother.

Question (16)

Monday is the 29th of February this year, then on the 29th of which month will be Monday this year?

Tfe 29 HIad) S WHAR &) A 3T ¥ v AT H 29 ARG & AHIR I 2
(A) March /AT (B) September/fadesy

(C) August/3TaTEd (D) July/S[eTTg

Correct Option : C

Explanation :
29 February means it is a leap year and in a leap year the month February and August month have
the same calender. So, on 29th August it is Monday.

Question (17)

If Add (+) means Divide (%), Divide (+) mean Subtract (-), Subtract (-) mean Multiply (x), Multiply (x)
mean Add (+), then solve the following mathematical equation : -

e SS (+) T HATS #TIT (=), 19T (+) T HIIS T (-),HTd (-) T HTeld IUM(X), I[OT(x) FT Al
3 (+) g ar fArafaf@d 1o aafieor &l gl Y |

12+6+3-20x8="7

A-2 (B4

€2 (D)8

Correct Option : A

Explanation :
=>12+6-3%x20+8



=>2-60+8
=>-50

Question (18)

Which of the following diagrams indicates
the best relation between North America,
United state America and New Yorlk 2

i § 4 wH-H s To sl g9 0
SEfE a1 =gEiE & die g Tqm 87

(4) @I:l ® L[]

(C) (D) |00

Correct Option : C
Explanation :

USA

New
York

North Amenca

Question (19)



Choose the correct mirror image of the
given question fiugre from amongst the four
alternative, if MN is morror.

fou T =W fawen 9 w9 wEa =1 9 T

wiafam #1 =797 %1 afE MN =90 2
Question figure /Wy 3TT{A:
M
Ao O
N
Answer figures /37 3TTeRfoT:
m ﬂ S E h ¥
* m 0
(A) (B) (C) D)

Correct Option : A

Question (20)

Identify the figure that will complete the

pattermn.
TG A F 9 F G2 w00

Question figure /Wy 3TeHf :

Answer figures /377 3Tl ;
(A) (B) (€) (D)

Correct Option : C

Question (21)



A piece of paper is folded and cut as shown
below in the question figures. From the
given answer figures, indicate how it will
appear when opened?

I 7= A § TR AR e w OEE
TIEA 791 Eier @ 4% 98 66 39 Apia W s
am

Question figures /s 3I'I'q»'Fﬂﬂ? H

(D6l

Answer figures /397 3TFfaam :
< < < <
O0O¢ WO Ry Oad¢ WReRY
< < o o
(A) (B) (€ (D)

Correct Option : D

Question (22)

Select the alternative in which the question
figure can be found.

I\ AFEE T T F s v gt R a

Question figure /Wy 3TEHfa:
Answer figures /377 Jl'l'ﬁ'\!ﬁ:
(A) (B) (C) 18]

Correct Option : B



Question (23)

Find the number of triangles in the given
figure 2
frefafes wwfa § fagel =1 g=m =9 ?

(A) 24 (B) 26
(C) 20 D) 28

Correct Option : C

Question (24)

Statement/&Yel

All Fruits are Leaves /a3 %el 93l & |
Some Fruits are Grapes./$& hel 3-1?13%"
Conclusions/fassy

I. Some Leaves are Grapes./imquUﬁ?R gl

II. All Grapes are fruits./H{T 3T el ¢ |
(A) Only conclusion | follows.

Farel foTsehy | 31THTOT AT § |

(B) Only conclusion Il follows.

harel || 3TeTEROT AT § |
(C) Both conclusion follows.
alet forsehs 3TeTERoT AT & |
(D) Neither conclusion I nor Il follows.
o AN | & 11 foTseny 37eTER0T AT ¢ |

Correct Option : A
Explanation :



Leaves

Grapes

Fruits

Only conclusion [ follow.

Question (25)



A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented by two
classes of letters as in two matrices given
below. The columns and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix-II
are numbered from 5 to 9. A letter from
these matrices can be represented first by
its row and next by its column. E.g_, ‘A" can
be represented by 22,10 etc., 'P' can be
represented by 55,67 Similarly, you have to

identify the set for the word NEAT".

TF VI thael UF WEN-99E S S T E, 6
T fasredl o 0 Tt w o fomn man 21 famel o fom
T HE-TE HERl & =1 =0 g Swi e €, S T
4 fam T 1 e | B RSl F WY A o
T HE 0 W 4 9 A AE-1IH 5 H I
AR A UF 375 F1 Ted SOET G AN 9% § W
W g A A AEa €1 I & fen A”
22,10 g7 =¥ =1 Tl €, P Fi 55,67 GA 941
= TEA 21 S A 9, WE! = CNEAT'® fau
WEN GYE F TEEEAl 2

Matrix-I/3T5g-1  Matrix-I1/3Te3g-11

ol11213 4 S5|le|7|8|9
OILIN|E|A|C S5|P|IT|O|R|S
1AJCILINIE] |6|R[S|P[T|O]
([ 2INIEJA|C L TITIOR|S|P
J|CIL|N|E |A S|S|P|TIO|R
4| E|A|C|L [N alo|lrR|=|IPIT

(A) 44, 14, 34, 56
(B) 20, 33,78, 75
(C) 13, 40, 67, 99
(D) 32, 21,41, 68

Correct Option : D

Question (26)

Which state has been declared India's second '‘Open Defecation Free (ODF)' state?

foha T T R T @ “Gol & T HFd” Tog A¥T FATE 2



(A) Kerala/ael

(B) Assam/3raH

(C) Himachal Pradesh/fgdTerer g&er
(D) Odisha/ 33raT

Correct Option : C

Explanation :

Himachal Pradesh has been declared India's second "Open Defecation Free (ODF)" state after
Sikkim. The state has successfully achieved 100% coverage and total rural sanitation coverage in
the state, with all 12 districts in the state achieving both these feats. With this newly acquired status,
Himachal Pradesh will entitle to receive World Bank funding under Rs. 9,000 crore projects to
sustain sanitation campaign

Question (27)

Which country has won the 2016 Asian Men's Hockey Champions Trophy?
foer & 7 2016 TRIATS gt Y glehr Aforg <rhr S 8 2

(A) Pakistan/dTiehEdTeT

(B) Malaysia/&eIfram

(C) India/gf3ar

(D) Japan/stTaTet

Correct Option : C

Explanation :

India has won the gold medal at the 2016 Asian Men's Hockey Champions trophy by defeating arch-
rivals and defending champions Pakistan by 3-2 in the final at Kuantan, Malaysia. This is the second
time India has won the title of this tournament.

Question (28)

Which of the following is called "brown paper"?

frafofaa 7 & ffd S8 du @r S g 2




(A) Jute/sic  (B) Cotton/adrd
(C) RubberR&s (D) Tea/drd

Correct Option : D

Question (29)

What is the India's position at the 2016 Global Youth Development Index (YDI)?
afRrareh gar faenre Faehieh (YDI) 086 F IR fohdl Flel T E 2

(A) 112th  (B) 133rd

(C)98th (D) 130th

Correct Option : B

Explanation :

India has been ranked 133rd out of 183 countries in the 2016 Global Youth Development Index
(YDI), which is compiled by the Commonwealth Secretariat on the countries' prospects for young
people in employment, education, health, civic and political spheres. The list is topped by Germany,
followed by Denmark, Australia, Switzerland and United Kingdom (UK).

Question (30)

Pneumoconiosis affects the worker who works mainly in:

FATFAINCTHRIA 9T HEAT & F T T 7 ofaT ol sl genfae e g 2

(A) Tanneries/T# s &T HRETAT
(B) Coal mining industry/aaell Telel 3YTeT
(C) Distillery/3TTaTsir J&13T

(D) Glass industry/IelT& 3T

Correct Option : B

Explanation :
Pneumoconiosis is a respiratory disease caused by the inhaling various types of dust, such as coal
dust, silica dust, asbestos dust etc. So, it is very common in workers of coal mining industries and



related industries.

Question (31)

Energy crisis is a consequence of:
33T Hohe fohaerTt RO § 2

(A) Excessive costs in generating energy/ 3T 3cdTesT & $1T fIRTae

(B) Fear of using certain energy source due to pollution/SigsuT & SReT e Il Flcll T TANT e
I

(C) Excessive use of non-renewable source of energy/33iT & 37TdTereoir Tt & 31T wraer

(D) Non-availability of source of energy/3sil s EAlcil T 3HeJsoTercl

Correct Option : C

Question (32)

Antarctica's which sea has been declared as world's largest marine protected area?
JeTiéent & Tohd AT S 1T T HoT T5T HHAT TRTT &7 TS a7 =T g 2

(A) Caspian Sea/ HTEIIT HRR

(B) Black Sea/ahell €I

(C) Ross SeaRFd ARR

(D) Dead Sea/fid 9

Correct Option : C

Explanation :

The Antarctica's Ross Sea has been declared as world's largest Marine Protected Area (MPA) after
the landmark international agreement among 24 countries and the European Union in the
Commission for the Conservation of Antarctic Marine Living Resources (CCAMLR) meeting in
Hobart, Australia. The Ross Sea is one of the last intact marine ecosystems in the world, which
covers 1.6 million square kilometers. It is home to penguins, seals, Antarctic tooth fish and whales.



Question (33)

Match List-l1 (Physioclogical processes) with
List-1I {Cell organelle) and select the correct
answer by using the codes given below:

-1 (W WiEmE) -1 (F )

| gafer A oy T g ® vt | deE

2 F I FIE GGl S0 H] T Hi
List-I /g=i-1 List-I1 /g=i-11

a. Photosynthesis/ 1.PFlasma membrane
ET HEE A el

b. Mineral uptake/ 2. Chloroplast/
s T FAREE

c. Fespiration/ 3. Mitochondria/
FEEA HEZHI-5Al

d  Protein synthesis/ 4. Ribosomes/
WA TEEEH

Codes/=Z:
a b ¢ d

A 1 2 3 4

B 1 2 4 3

c)2 1 3 4

D2 1 4 3

Correct Option : C

Explanation :

Photosynthesis occurs in green plants by the help of chloroplast. Plasma membrane is a membrane
to transport minerals. Cellular respiration is done by mitochondria, by which energy releases.
Ribosome helps in protein synthesis.

Question (34)

Which one of the following element is essential for the construction of nuclear reactors?
AT # & HieT-AT Ueh ded RATY] RUeFe o AT & foT maege & 2

(A) Cobalt/®lsTec  (B) Nickel/ faiferer

(C) Zirconium/foR&IfaTa (D) Tungsten/eaTesT

Correct Option : C
Explanation :



Zirconium purified metal is primarily used by the nuclear industry to form the outer layer of fuel rods
in nuclear reactors. Zirconium's major use is as cladding for nuclear reactors. It is ideal for this use,
as it has a limited ability to capture neutrons, strength at elevated temperatures, considerable
corrosion resistance, and satisfactory neutron damage resistance.

Question (35)

Kristalina Georgieva, who has been appointed chief executive of the World Bank (WB), is of which
country?

TreciforaT Sefiaa fietent fava den(WB) 1 HEar iR 3T forgerd forar aram § ag fra g &
grafd g ?

(A) Israel/ZsRIBaT  (B) Germany/siafsir

(C) France/spre (D) Bulgaria/gedamiar

Correct Option : D

Explanation :

Kristalina Georgieva, a former head of EU humanitarian affairs, has been appointed chief executive
of the World Bank. She will succeed Sri Mulyani Indrawati on January 2017. Georgieva is a
Bulgarian economist and administrator and currently serving as European Commission Vice
President for Budget and Human Resource.

Question (36)

With reference to 'fly ash’ produced by the power plants using coal as fuel, which of the following
statements is/are correct?

TSIl G 7 U & FT H I FHT 3TN F 3cUTied IW & e &, Fra A I sla-ar saT T8 g ?

1. Fly ash can be used in the production of bricks for building construction./ $7asT f¥#ToT & S &
3cUTGsT o oIt I T STAATS T ST & |

2. Fly ash can be used as a replacement for some of the Portland cement concrete/dicois Hidie
HohIc o IFATUTIT & ®T H W HT STAAT FIT AT ¢ |

3. Fly ash is made up of silicon dioxide and calcium oxide only, and does not contain any toxic

elements./fRAfIPI STS3iTaFaTSS 3R o ifawrss der ¢ 31 a8 fonddY oy Siedem dcal & enfder
oTeT gle |



(A) 1and 2/1 3R 2
(B) Only 2/&hdeT 2
(C) 1 and 3/1 3R 3
(D) Only 3/ shder 3

Correct Option : A

Explanation :

Fly ash brick (FAB) is a building material, specifically masonry units, containing class C fly ash and
water. All fly ash includes substantial amounts of silicon dioxide (SiO2) aluminum oxide (Al203) and
calcium oxide (CaO), the main mineral compounds in coalbearing rock strata. Fly ash can be used
as a replacement for some of the Portland cement contents of concrete.

Question (37)

Living organisms require at least 27 elements, of which 15 are metals. Among these, those required
in major quantities, include:

ST aroft & et & o 27 cedl ,FoTeTa @ 15 T3 T JTaRTehcll Bl § [SeTeh ToW AT
IMEIFMAT AT & -

(A) Potassium, manganese, molybdenum and calcium/ YTz, Hreiier  Alfoiscs 3R e

(B) Potassium, molybdenum, copper and calcium/ GreTIaa, AiforsceTe, areT 3R o
(C) Potassium, sodium, magnesium and calcium/ SreTITa, @f3ae  AefAgs 3R Hiceraa
(D) Sodium, magnesium, copper and manganese/ SIS, HIARNIH dreT 3R Harelrer

Correct Option : C

Explanation :

Living organism requires about 27 elements of which 15 are metals. K, Mg, Na and Ca are required
in major quantities. Minor quantity of Mn, Fe, Co, Cu, Zn and Mo and trace amount of V, Cr, Sn, Ni
and Al are required by some organisms. Calcium, magnesium and phosphorus are essential parts of
the bones and teeth. Calcium is necessary for blood clotting. Sodium helps in muscle activity and
transmission through nerves.

Question (38)



Who spoke: "At the stroke of midnight, when the world sleeps, India awakes to life and freedom"?
g [P T AT ‘5T THT ALWTT gld &, 519 TR AT IET & ,9Rd TadTdT & [T ST 3818 |7

(A) Subhas Chandra Bose/gIFdg a4 |

(B) Mahatma Gandhi/FgTcaT e

(C) Jawaharlal Nehru/STaTgelTel sige

(D) C. Rajgopalchari/dY IrsTaNaTerarT

Correct Option : C

Question (39)

Which one of the following planets has no moon?
feAfaf@a 7 & 5w a1g 1 ai 78T glar 2
(A) Mars/#HaTeT  (B) Neptune/aegst

(C) Mercury/g4 (D) Pluto/cefeT

Correct Option : C

Question (40)



Match List-l with List-Il and select the
correct answer using the codes given below
the lists.

Tt-l ®1 gEi-11 § gafea #  f5 m afaw 5
Wil § g F2 w1 ST F0E w6 S w9

ETil
List-I List-I
(Award Prize)/ (Recipient)f
S RN EIEET |
a. Indira Gandhi 1. Archibishop
Prize for /30 Desmond Tutu
M TR Peace, Disarmament
and Development/
A (9] =HEE T
it T 6
farmm = fom

b, Jamnalal Bajaj 2. Dr. Gurudev
Award | ST Khush /2l TFa T30

Al IR
c. Intermational 3. Dr.M.5.
Gandhi Peace Swaminathan /
Prize/ si7i=g El. TRTH, =AY
Mt it [T
d  World Prize/ 4. MNelson Mandelaf
Codes/=Z:
a b e d
A1 3 4 2
B 3 1 4 2
c)1 3 2 4
m3 1 2 4
Correct Option : A
Explanation :

Indira Gandhi Prize for Peace, Disarmament and Development was given to Archbishop Desmond
Tutu, Jamnalal Bajaj award was given to Dr. M.S. Swaminathan, International Gandhi Peace Prize
was given to Nelson Mandela and World Prize was given to Dr. Gurudev Khush.

Question (41)

‘MOV’ extension refers usually to what kind of file ?

‘MOV’ ,TFHERI TAAR TR fohd TR FI BISel T 3ol HIAT § ?

(A) Image file / SHT BIScl
(B) Animation/movie file / TR /HdT BIgel



(C) Audio file / 37TfSaY wrser
(D) MS Office document / THUH 3fTthd Slgge

Correct Option : B

Question (42)

Which one of the following is used for sun glasses?

[ & w123 & ForT farey i T SrieT v STt & 2
(A) Pyrex glass/dTserd id

(B) Flint glass/fFeic s

(C) Crooks glass/Eed &ia

(D) Crystal glass/fsh&ee ra

Correct Option : C

Question (43)

What are Rubies and Sapphires chemically known as?

Ao 3R e Fl TFd TaRfHS T & ST AT § 2

(A) Silicon dioxide/faforpre sE3iFaES
(B) Aluminum oxide/TegHITIIH 3ieFarss
(C) Silicon oxide/faforisT iTaraTss

(D) Boron nitride/SRTA ATEEISS

Correct Option : B

Explanation :

Rubies and Sapphires are scientifically the same stone, differing only in color. Corundum, the
predominating mineral of both, is composed of nearly pure alumina (Al203). The coloring substance
which differentiates rubies and sapphires are believed to be chromium.



Question (44)

Corporation tax is a tax imposed on

e Y fohg W eemaT ST § 2

(A) The net incomes of the companies/ FFqT= T T FeT 3T

(B) The corporate properties /RURE fFATamd

(C) The utilities provided by the corporation /fi3Ta gaRT 9&TeT &t =T 3TANATT

(D) Tax imposed by the corporation on individual properties / fe¥3Td gaRT cafFdard fawarsit ax
STITTT 91T oh

Correct Option : A

Explanation :

Corporate Tax is a levy placed on the profit of a firm, with different rates used for different levels of
profits. Corporate taxes are taxes against profits earned by businesses during a given taxable
period. Most countries tax all corporations doing business in the country on income from that
country.

Question (45)

Which of the following is a non metal that remains liquid at room temperature ?
fAFfafed & @ wl-dr 31T ATHT TooHeT TR el Wl § 2
(A) Phosphorous / BIF®BRA  (B) Bromine / SifaAeT

(C) Chlorine / FefieT (D) Helium / fgferasT

Correct Option : B

Question (46)

The innovator of the Revenue settlement during the rule of Akbar was



e & ATHA & GRIT Toied 3ufaider & Jddeh i 42
(A) Raja Man Singh/ASTT ATITHE

(B) Raja Bhagwan Das/ISIT HdTdleT aTH

(C) Raja Todarmal/RST SISTH

(D) Raja Birbal/RSTT siReel

Correct Option : C

Explanation :

Raja Todar Mal was a warrior, an able administrator and an exemplary finance minister. He was one
of the 'Navratnas' of Akbar's courts. He introduced an excellent land revenue system. In 1582, the
titte Diwan-I-Ashraf was bestowed upon him by the Emperor.

Question (47)

During which Five-Year Plan did India lay down the objective of the need to ensure environmental
sustainability of the development strategy?

Tohd Terafir ATt o el TR o Taehre TRENSTT shT TATeR oy Rt G Ted e i
3TARIhAT FT 360 TWT ?

(A) 6th Five Year Plan/Sér qaayiar JrareT
(B) 7th Five Year Plan/@Tddr 9aa¥iy JHeT=r
(C) 8th Five Year Plan/3adl Geasia Jrarem
(D) 9th Five Year Plan/aldT qaasia Jemr

Correct Option : D

Explanation :

The Ninth Five Year Plan recognised the integral link between rapid economic growth and the quality
of life of the mass of the people. Ensuring environmental sustainability of the development process
through social mobilisation and participation of people at all levels was one of the specific objectives
of the Ninth Plan as approved by the National Development Council. In the Ninth Plan document,
policies and programmes during the Eighth Plan period were reviewed, shortcomings identified and
new policy framework suggested overcoming the shortcomings and ensuring sustainability of the
development process not only in economic terms but also in terms of social and environmental
factors.



Question (48)

Who constitutes the Finance Commission after every five years?
Ik 9T gy d1¢; fad 3TAN9T T ITSeT hisT T & ?

(A) The Council of Ministers/#aRue

(B) The Parliament/&dg

(C) The PresidentRTsgafar

(D) The Comptroller and Auditor General/ o139 Td HgTer@r qreTsh

Correct Option : C

Explanation :

Article 280 of the Indian Constitution deals with the Finance Commission. The Finance Commission
of India came into existence in 1951. It was established under Article 280 of the Indian Constitution

by the President of India. It was formed to define the financial relations between the centre and the

state.

Question (49)

Hitler party which came into power in 1933 was known as
1933 & TaT & 31S fFeer urét I iy A1 & ST AT § 2
(A) Labour Party/lsi¥ Il

(B) Nazi Party/aTsir 9ref

(C) Ku-Klux-Klan/ehg-eFeferd-aFeflel
(D) Democratic Party/S#Ishican dréf

Correct Option : B

Explanation :

Nazi Party, by the name of National Socialist German Workers’ Party was a political party of the
mass movement known as National Socialism. Under the leadership of Adolf Hitler, the party came
to power in Germany in 1933 and governed it by totalitarian methods until 1945. It was founded as
the German Worker’s Party by Anton Drexler, a Munich locksmith, in 1919. Hitler attended one of its
meetings that year, and his energy and oratorical skills soon enabled him to take over the party.



Question (50)

The members of Parliament can express themselves in the House in
THS o T Heel H Ge, 1 fohd $7eT 3 313 czerd vy Tl & 2

(A) English only / &hdaer 313t

(B) Hindi only / shaer f&dr

(C) English or Hindi / 37315T 21 fgdr
(D) English, Hindi or mother tongue / 373rST, f&eT 4T AT 8TeT

Correct Option : D

Question (51)

Each of the two circles of equal radii with
centres at A and B pass through the centre
of one another. If they cut each other at C
and D, then #DBC is equal to:

oA = T 3 99 fo %5 A 79 B ¥, TH-g
% %5 ° a0 21 40 o UH-gE % fag C # D
o e ®, 9 £DBC ¥-

(A) 60° (B) 100°

(C) 120° (D) 140°

Correct Option : C
Explanation :

AABC & AABD are equilateral triangles,
AB=AC=BC=BD=AD-=r
ZDBC = ZCBA + £ DBA



Question (52)

Virat travelled a distance of 75 km in 7 hrs. He went some distance at the rate of 12 km/hr and the
rest at 10 km/hr. How far did he travel at the rate of 12 km/hr?

fatre 75 et 1 gl 7 G A T FAT | | 30 o g 12 forer. /e ohr a1fey & oFur A9 g8 10 fohadt./erer
T FTTCT & T T | 3HeT 12 Tohal. /et ot 91Tt & Tohetel gt o &t 2

(A) 30 km/fReY.  (B) 25 km/fhaT,
(C) 40 km/fat. (D) 35 km/fhar.

Correct Option : A

Explanation :
Speed Speed
12 km/hr 10 km fhr

Avg. speed = %lﬂnf hr

=1

Time ratio E
7

So,ratin=5:9
(5+ 9)unit="T7 hr

14 unit = 7 hr
7
1 unit = —
unit = 7o
. 7 35
5 unit = 1a ®5= 12
. 35
Total distance cover at 12 km/hr = 12 = 1a

= 30 km

Question (53)



[a®+ 2a)* + 12(a* + 2a) — 45 can be expressed
as:

(a? + 2a)® + 12(a? + 2a) — 45 I TG A THAT
2-

[A) [a- 1)z + 3)[a? + 2a + 15)

(B) (a+ 1)[a + 3)(a® + 2a + 15)

(C) [a+ 1)[a- 3)[a?+ 2a + 15)

(D) [a- 1){a — 3)(a® + 2a + 15)

Correct Option : A
Explanation :

(&) [a® + 2a)* + 12(a® + 2a) - 45
Let (a® + 2a) = x
=x*+12x-45
¥+ 15x-3x-45
ax+ 15) - 3(x+ 15)
[x=3] (x+ 15)
Put the value of x
[a®+2a-3) [a*+2a+ 15)
=fa*+3a—-a—-3)(a?+2a+ 15)
=laja+ 3)—1fa+ 3)} (a® + 2a + 15}
=(a—1) (a + 3) (a® + 2a +15)

Question (54)

A and B invest into a business in the ratio
5: 4. If 10% of the total profit goes to charity
and A's profit share is ¥ 7500, then the total
profit is:

AFRBUF A § 5: 4 % 3gTW ° o fEw
F B T A9 F 10% TF ° 9§ 7 =y g
A =1 fem T 7500 €, A o w0 =4 87

(A) T 7500 (B) 715,000
(C) T 12,000 (D) % 10,000

Correct Option : B
Explanation :



A:B

5:4
Total profit is 100% but 90% profit is shared
between them as 10% goes to charity.

5 unit = 7500

T500
9 unit = * 9

5
9 unit = 90%
7500

= Q0% = x 9
~ 100% = 7500 ® § = 100
- " 5x90
=F 15,000

Question (55)

A boatman goes 2 km against the stream in 2 hour and goes 1 km along the current in 20 minutes.
How long will it take to go 5 km in stationary water?

U hac ORT & AT G & 2 fopadl. 2 8¢ & S1ar & a2 3msamsams fora). err fr feem & 20 e
H ST & |2 STl 7 5. S & T fhdeTr g& = o 2

(A) 2 hr 30 min/2 g¢ 30 fAc
(B) 2 hr/2 &€
(C) 4 hria e
(D) 1 hr 15 min/1 &¢ 15 f&se
Correct Option : A
Explanation :
2
(&) Upstream speed, U = 2= 1 km/hr
1
Downstream speed, D = 1= 3 km/hr
3
o D+U  3+1
Speed of boat in still water = 5 T a5

=2 km/hr

5
So, required time = 3 hr = 2 hr 30 min



Question (56)

Side BC of AABC is produced to D. If ZFACD =
140° and #ABC = 3-/BAC, then find <A,

AABC =1 Y& BC #1 D 7% 9=/ T 3§ ZACD
= 140° 3t ZABC = 3/BAC &, @l ZA =1 9H

IEEAE]
{A) 45° (B) 55°
(C) 35* (D) 60°

Correct Option : C
Explanation :

A
K"

Tyl 140°
B C D

LA+ SB=140°
x+ 3x=140°
dx= 1407
x=35°

LA =35"

Question (57)

3 pumps, working 8 hours a day, can empty a tank in 2 days. How many hours a day should 4
pumps work in order to empty the tank in 1 day?

3 YUY YidfeeT 8 ©¢ el Fleh ThaT cah ol 2 et 3 Well X Tohdl ¢ |4 9T I 34T & T 1 &7 & @elr
I o forw gfafest fhder g¢ e e arfeu 2

(A)10 (B)12

(C)8 (D)15

Correct Option : B

Explanation :
3x8x2=4xxx1



x =12 hr

Question (58)

The least number which should be added to 28523 so that the sum is exactly divisible by 3, 5, 7 and
8is:

96 FaY G&T f¥ehel , fo&Y 28523 & Silgel 9X FYer quid :3,5,731K 8 & faenfoid g smel & |
(A)41 (B)42
(C)32 (D)37

Correct Option : D

Explanation :
LCMof3, 5 7,8=840
840) 28523 34
2520
3323
3360
- 37

So, 37 15 the least number which should be
added.

Question (59)

In an acute angled AABC, if sin 2(A + B - C)
=1and tan (B + C-A) = /3, then the value
of /B is:

S[AF AABC ¥, 3 sin 2(A + B-C) = 1 3
tan (B + C-A) = /3 #. /B &1 94 &-
(&) 60° (B 30°

1 1
c) 52=° D] 68=°
(C) 523 (D] 68

Correct Option : C
Explanation :



[C)sin 2[A+B-C) =1
ZA+B-C)=90
A+B-C=45°
tan (B+C-A)=.f3
BE+C-A=60°

Solving (i) and (ii) equation
A+B-C=45°
B+C-A=60°

2B = 105°

1
£B=52="°
2

Question (60)

The top of a 15 m high tower makes an
angle of elevation of 60° with the bottom of
an electronic pole and angle of elevation of
30* with the top of the pole. What is the
height of the electic pole?

15 Wi, = = SEn w1 faeel @ % e |
I F 60° & 79 T F 7 G 3= w50 30°
2| faoell & @ H1 39 ¥ 87

(A) 5m/

(B) 8 m/

(C) 10 m/H.

D) 12 m/.

Correct Option : C
Explanation :



307~ ¢

15mB

In AADE
AD

tan G0 =ﬁ

AD
tan 60*

15
DE= 75

15
DE=BC=—
B

In AABC

AB

tan 30 =E

AB=BC - tan 30°

AR 15 1

= — g —
NN
AB=5m

Height of electric pole CE = AD - AB
=15-5=10m

Question (61)



Printed price of an article is ¥ 900, but the
retailer gets a discount of 40%. He sells the
article for ¥ 900. Retailer's gain percent is:
fadlt @ =1 #ifFa ge9 2 900 2, fFg UF mE0
= T 40% F FE W WE FI4 § A0 30 75
+1 T 900 ¥ We® F 99 a1 51 G AR F =0
i &-

(A) 40 (B) &0
) 662 D) el
3 3
Correct Option : C
Explanation :
C) C.P of article = 900 = 60 _ T 540
[ } = IDD

5.P of retailer = ¥ 900

360 400
% pain = —20 x 100 = ——2
Bam = =0 6
200 2
== 6=
3 3

Question (62)

Two vessels A and B contain wine and water
in the ratio 5: 2 and 7 : 6 respectively. Find
the ratio in which these mixtures be mixed
to obtain a new mixture in vessel C
containing wine and water in the ratio 8 : 5.
% UH A R B W WE EE 9 FS9E FA:
5:2 3 7:6 B T G4 fauwi w1 e o
foeman =m0 @ 9= ¢ # Ay fasm &1 wqwe 8 5

s w7
(A 3:4 (B) 4:3
(C) 9:7 oy 7:9

Correct Option : D
Explanation :



B
7

N\,
L/ 13 \E

Soration¥ : 9

=1 i

Question (63)

8 taps through which water flow at the same
rate can fill a tank in 30 minutes. If two
taps go out of order, how long will the
remaining taps take to the fill the tank?

TOF A ® 8 79 U oF &1 30 e § W ouwd
1 3% =1 7o =0 & W, 9 99 g 6 36 3F R
a3 | e 794 w7

(A) 35 min/fFe  (B) 37 min/fFe

(C) 40 min/fFe (D) 38 min /e

Correct Option : C

Explanation :
8:30=6:x

X = 40 min.

Question (64)



If x¥* + 4x + 3 = 0, then the value of

3
o

x® +27x% +27 ¥

3

N X
ﬂﬁf+4x+3—0%,?n F 12T 127 & HH
2-

A 1 B 1
A) -5 B)
€ = D) -1
2
Correct Option : D
Explanation :
r+4x+3=0

¥+3x+x+3=0
[x+3){x+1)=0
x=-3.-1

3
X

P X° +27x +27

-1
1+ 2717 + 27
-1

“1-a7+07 !

Question (65)

A discount of 15% on one article 1s the same
as discount of 20% on a second article. The
costs of the two articles can be:

U =9 W 15% % g2, Tl gal 79 W 20% %
2 F A, 11 3 g F1 %9 geg © s 8-
(A) T 85,760 (B) 60,340
(C) T 40,720 (D) % 80,360

Correct Option : D
Explanation :



(D) Let the marked price of both article is x,
y respectively.
According to question:

xx15 y=20

Question (66)

If the average of 10%, 25%, 50% and 75% of
a number is 24, then the number will be:

et TEm & 10%, 25%, 50% 3 75% 1 e
24 =1, 91 dE=n -

(A) 50 B 60

(c) 70 (D) 80

Correct Option : B

Explanation :
(B] Let number be x

10% = — 25% = =
4 = — A = —
* i = a
50%= = 75% = -
i 4 - 4 = —
i 2 x 4
x 3x
E+_+_+T
= Average = r =24
2x+5x+10x+15x
20
= =24
4
B 32x B
-0 "
32x =96 = 20
QG =20
= = (0

a2



Question (67)

Total simple interest of ¥ 929.20 is fetched
on a sum at the rate of 8 p.c.p.a. in 5 years.
What is the sum?

=E T 9 FiTAg fogw 8% ga a6 #I H 5 =96
=1 HMAW =AE T 929,20 w17

(A) ¥2323 B ¥1223
(C] ¥2563 (D] ¥2353

Correct Option : A

Explanation :
_ Principal= Time= Rate
[A) Interest = 100
Px5x8
029.20= —
100
~929.20x100
~ 5x8
P=%2323

Question (68)

The product of the ages of Heer and Ranjha
iz 240 years. The sum of the age of Heer
4 years hence and Ranjha 10 years ago is
25 years. Find the persent age of Ranjha.
B 3 T FT A FOPEEA 240 79 F1EHT
4 = =% 1 A A U T 10 T TEe T ARG H
T 25 a4 2, A U H AGHH g T4 Hi

(A) 16 years/¥d

(B) 14 years/¥4

(C) 12 years/¥M

DI None of these /378 § =& =&

Correct Option : D
Explanation :



Let age of Heer be H
age of Ranjha be B
H=R=240
H+4)+[R-10) =25
H+R-6=25
H+R=231
(H+R)*-(H-R)?=4ERH
961 -4 x240=H-R)?
961 -960=H-R)?
H-R=1
Solving eqgn. (i) and (ii
H+R=231
H-R= 1
- + —

2R =30
R =15 [Age of Ranjha)

Question (69)

A can do a particular work in 6 days. B can
do the same work in 8 days. A and B signed
to do it for ¥ 32000. They completed the work
in 3 days with the help of C. How much is to

be paid to C?

A T =19 %1 6 57 § = 5wl & 991 B 359 F1
# 8 fo7 § F7 w1 21 A 99 B 7 T 32000 ¥
et ®M w0 w1 % fem T4 C &1 SeEa o
=M =1 3 f 9 9oma & C =1 % zm e

Y AT FA B
(A) T 3800 (B)

(C) ¥4200 (D) %4000

Correct Option : D
Explanation :



(D) 24 (total work)
A—pBl4
B—5&| 3
with help of C they can do work in 3 days
24 24

A+B+C  4+3+x
s x =1 [efficiency of C)
-+ 24 unit = 32,000

1 . 32,000

. 1 unit = 24

& : —_— 2, —

. 3 unit = 74 ® 3 =T 4000

Question (70)

Find the value of 1 + 2 sec? A tan® A - sec* A
—tan® A.

1+ 2 =sec® Atan® A— sec* A - tan* A T IH
Frmmel

A) 3 B 0

C) 2 (D) 1

Correct Option : B

Explanation :
B)l1+2sec?A-tanA—sec’ A—tan® A
=1-—(sec* A+ tan* A - 2 sec® A - tan® A
=1 —(sec® A - tan® A)®

=1-(1

=0

Question (71)



If the perimeters of an equilateral triangle
and that of a square are equal, then the ratio
of their areas will be:

I fad wrang fags 9o =i =1 fifafa oo= 2, @
% GAFE T AT B-

(A) 4:3 B) 4:43

(C) 4:343 D) 4:243

Correct Option : C
Explanation :

(C} Perimeter of equilateral A = Perimeter of

Area of equilateral A @
Area of square r?

V3

—x 1B

4
=2 —=4:3/3
5 V3

Question (72)

0.15% of 33%% of ¥ 10,000 is:

710,000 % 33%% = 0.15% foa =m?

(A) T5 (B ¥150
(C) 20.05 (D) ¥1.05

Correct Option : A

Explanation :
Required answer

1 15
=T 10,000 = 3 = T50x100
=75



Question (73)

Direction (73-75) : The following graph shows
the Profits and Losses, (¥ in thousand) in a
business for the years 2006-2011. Study the
graph and answer the questions.

e (73-75) : faw o 73Uz antw =i 2006-2011 7
= Taredt =raar & ww T gif @ v €1 avE A

T ST T AT WAl & I 4

[] Loss/=14

5 Bl Frofit/=ma
i!E 4
o I
iE 2
=

0.5 |_|
200 20T 208 2009 2010 2011
Yllﬂm

The ratio of the maximum profit earned to the minimum loss suffered is:

31TRIeheraT o187 3R SYTaTH gelt ohl 3He]dTd & -
(A)4:3 (B)3:4
(©9:2 (D)2:9

Correct Option : C

Explanation :
Maximum profit = 4.5

Minimum loss = 1

ratio=9:2

Question (74)



Direction (73-75) : The following graph shows
the Profits and Losses, (¥ in thousand) in a
business for the years 2006-2011. Study the
graph and answer the guestions.

e (73-75) : fauw 7w 2 snia 99 2006-2011 7%
=% Tardi =reraTa = =W A g1 v §) 2 e

W ST HT AGT WA & I A

[[] Loss/=13
s Bl Frofit/=ms
E:E i
F s
T
EE 1
=i

200 2007 2008 2009 2010 2011

Y:lr:.l’ﬂﬂ'

The amount of total loss incurred during 2006-2011 is:
a¥ (2006-2011) cTeh T BTl &-

(A) Rs. 3 lakh/emg@

(B) Rs. 2.5 lakh/aT@

(C) Rs. 1.5 lakh/ oIf™

(D) Rs. 2 lakh/ oreT

Correct Option : B

Explanation :
Total loss = (1.5 + 1) =" 2.5 lakh

Question (75)



Direction (73-75) : The following graph shows
the Profits and Losses, (¥ in thousand) in a
business for the years 2006-2011. Study the
graph and answer the guestions.

T (73-75) : fau o TvE smiw =d 2006-2011 7%
=% Tardi =reraTa = =W A g1 v §) 2 e

W ST HT AGT WA & I A

[[] Loss/=13
s Bl Frofit/=ms
E:E i
o I
H
L
0.5 |_|

200 2007 2008 2009 2010 2011

Y:lr:.l’ﬂﬂ'

If the loss is x% of the profit for given years, then x is:
e & aTv oSt #F gTeil, el 18T T x% 8Y, AT X & -
(A) 15 (B) 25
(C)20 (D) 19

Correct Option : C

Explanation :
25=x%[25+3.5+4.5+3
2.5=x%12.5

2.5

X% = 12.5

_ 2.5
*T 125

* 100 =x=20

Question (76)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are
correct. Find out which part of a sentence has an error and blacken the oval corresponding to
the appropriate letter (A), (B), (C). If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

The Prime Minister along with his Cabinet colleagues (A)/ have been welcomed by the Chief Minister



(B)/ at a formal ceremony. (C)/ No error (D)

Correct Option : B

Question (77)

There is (A)/ a silver lining (B)/ on every cloud. (C)/ No error (D)

Correct Option : C

Question (78)

On receiving the mark-sheet from the University (A)/ | realised (B)/ that | had got only passing marks
in English. (C)/ No error (D)

Correct Option : C

Question (79)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an
appropriate word(s). Four alternatives are suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening the appropriate oval in the Answer
Sheet.

We shall go for a picnic if the weather good.
(A) is (B) was
(C) has been (D) had been

Correct Option : A

Question (80)



The teacher found many mistakes in my composition, when she went it.
(A) into (B) about
(C) for (D) through

Correct Option : D

Question (81)

John must have the to stick to his diet, if he wants to lose weight.
(A) obstinacy (B) determination

(C) decision (D) obligation

Correct Option : B

Question (82)

Directions : In question nos. 82 to 83, out of the four alternatives, choose the one which best
expresses the meaning of the given word.

MELLOW

(A) Melodious (B) Dramatic

(C) Genial (D) Fruity

Correct Option : C

Question (83)

CIRCUITOUS
(A) Short (B) Roundabout
(C) Circular (D) Different



Correct Option : B

Question (84)

Directions : In question nos. 84 to 85, choose the word opposite in meaning to the given
word.

ACQUITTED

(A) Jailed (B) Exonerated

(C) Convicted (D) Accused

Correct Option : C

Question (85)

GRADUAL
(A) Unscrupulous (B) Dynamic
(C) Rapid (D) Enthusiastic

Correct Option : C

Question (86)

Directions : In question nos. 86, four words are given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find the word spelt correct/wrong and mark your
answer in the Answer Sheet.

(A) Accessibility (B) Acsessibility
(C) Accessebility (D) Acessibility

Correct Option : A



Question (87)

Direction : In Question nos. 87 to 89, four alternative are given for the Idiom/Phrase in bold in
below sentences. Choose the alternative which best expresses the meaning of the
Idiom/Phrase and mark it in the Answer Sheet.

Who are we to sit in judgement over their choices?
(A) lecture (B) criticize

(C) speak (D) communicate

Correct Option : C

Question (88)

He was pulled up by the director of the company.
(A) assaulted

(B) dragged

(C) reprimanded

(D) cleared

Correct Option : C

Question (89)

The storm brought about great destruction in the valley.
(A) invited (B) caused
(C) succeeded (D) halted

Correct Option : B



Question (90)

Direction: In Question nos. 90 to 92, a sentence/ a part of the sentence is italicized in
underlined. Below are given alternatives to the italicised part at (A), (B), (C) which may
improve the sentence. Choose the correct alternative. In case no improvement is needed your
answer is (D). Mark your answer in the Answer Sheet.

You should be always greatful to your mentor.
(A) greatful towards

(B) grateful to

(C) ingratiating for

(D) No improvement

Correct Option : B

Question (91)

At his return we asked him many questions.
(A) as he returns

(B) on his return

(C) while returning back

(D) No improvement

Correct Option : B

Question (92)

Most people are afraid of swine flu these days.
(A) most of the people are afraid of

(B) almost all the people were afraid for

(C) many people afraid of

(D) No improvement



Correct Option : A

Question (93)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives,
choose the one which can be substituted for the given sentence.

To be dogmatic in one's opinions
(A) Plaintive (B) Opinionated
(C) Undoubtable (D) Secular

Correct Option : B

Question (94)

An agreement between two countries or groups to stop fighting
(A) Compromise (B) Ceasefire
(C) Outpost (D) Protocol

Correct Option : B

Question (95)

Full of criticism and mockery
(A) Discrimination (B) Ridicule
(C) Satire (D) Contempt

Correct Option : B



Question (96)

Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions
following the passage. Read the passage carefully and choose the best answer to each
question out of the four alternatives.

Passage -1

As society becomes more and more affluent, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can indulge in
more congenial activities. They will not like to waste their leisure time performing routine domestic
chores which tend to sap their energy. The idea of a robot slave which would be capable of
performing many of these monotonous chores is one that will appeal to many. Already robots are
used in mines and factories to perform tasks which are too risky for human beings. It takes a lot of
research by dedicated scientists and sufficient financial backing for a model to be developed to
perform a new task. This in turn depends on the number of people who feel the need for a robot to
perform these specific tasks. The problem of designing a robot capable of performing various routine
tasks around the house is response mechanism and source of power, which can be programmed to
perform certain specific tasks, is not impossibility.

In an affluent society, people prefer to work shorter hours because
(A) they are lazy

(B) they do not have the strength to work

(C) they want time to carry out other activities

(D) they abhor their work

Correct Option : C

Question (97)

As society becomes more and more affluent, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can indulge in
more congenial activities. They will not like to waste their leisure time performing routine domestic
chores which tend to sap their energy. The idea of a robot slave which would be capable of
performing many of these monotonous chores is one that will appeal to many. Already robots are
used in mines and factories to perform tasks which are too risky for human beings. It takes a lot of
research by dedicated scientists and sufficient financial backing for a model to be developed to
perform a new task. This in turn depends on the number of people who feel the need for a robot to
perform these specific tasks. The problem of designing a robot capable of performing various routine
tasks around the house is response mechanism and source of power, which can be programmed to
perform certain specific tasks, is not impossibility.



Domestic chores

(A) are welcome by housewives
(B) are too demanding

(C) lead to family discord

(D) are too time-consuming

Correct Option : B

Question (98)

As society becomes more and more affluent, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can indulge in
more congenial activities. They will not like to waste their leisure time performing routine domestic
chores which tend to sap their energy. The idea of a robot slave which would be capable of
performing many of these monotonous chores is one that will appeal to many. Already robots are
used in mines and factories to perform tasks which are too risky for human beings. It takes a lot of
research by dedicated scientists and sufficient financial backing for a model to be developed to
perform a new task. This in turn depends on the number of people who feel the need for a robot to
perform these specific tasks. The problem of designing a robot capable of performing various routine
tasks around the house is response mechanism and source of power, which can be programmed to
perform certain specific tasks, is not impossibility.

Robots are already used in mines and factories to perform
(A) hazardous tasks

(B) tasks with greater efficiency than human beings

(C) tasks which lead to economy in the operations

(D) tasks which are forbidden by the labour laws

Correct Option : A

Question (99)

As society becomes more and more affluent, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can indulge in
more congenial activities. They will not like to waste their leisure time performing routine domestic
chores which tend to sap their energy. The idea of a robot slave which would be capable of



performing many of these monotonous chores is one that will appeal to many. Already robots are
used in mines and factories to perform tasks which are too risky for human beings. It takes a lot of
research by dedicated scientists and sufficient financial backing for a model to be developed to
perform a new task. This in turn depends on the number of people who feel the need for a robot to
perform these specific tasks. The problem of designing a robot capable of performing various routine
tasks around the house is response mechanism and source of power, which can be programmed to
perform certain specific tasks, is not impossibility.

Developing a robot capable of performing a new task
(A) is difficult for the scientists

(B) is impossible for the scientists

(C) requires huge capital

(D) depends on the number of people who require it

Correct Option : C

Question (100)

As society becomes more and more affluent, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can indulge in
more congenial activities. They will not like to waste their leisure time performing routine domestic
chores which tend to sap their energy. The idea of a robot slave which would be capable of
performing many of these monotonous chores is one that will appeal to many. Already robots are
used in mines and factories to perform tasks which are too risky for human beings. It takes a lot of
research by dedicated scientists and sufficient financial backing for a model to be developed to
perform a new task. This in turn depends on the number of people who feel the need for a robot to
perform these specific tasks. The problem of designing a robot capable of performing various routine
tasks around the house is response mechanism and source of power, which can be programmed to
perform certain specific tasks, is not impossibility.

The problem of designing a robot capable of performing various routine tasks around the house is
not

(A) insurmountable
(B) surmountable
(C) real

(D) virtual

Correct Option : A



Question (101)

Directions (1 —4) : In each of the following questions, select the related letter/word/ number
from the given alternatives.

f&ar (1-4) : e ued% weat # Rw a1v Red) 3§ & wrafta 3aw/ weg/ WEa F1 giav |
Toshiba : Japan : : Samsung : ?

SNTRET: ST : : JFET : ?

(A) India/sTRa

(B) China/dsT

(C) South Korea/gfa&ToT sIRaT

(D) Russia/&xH

Correct Option : C

Explanation :
Toshiba is a Japanese company and Samsung is a South Korean company

Question (102)

BDLM : CBOI : : AGRS : ?
(A) DTRP (B) BEUO
(C) CEUP (D) EITO

Correct Option : B
Explanation :



Question (103)

B|P|P|P

(A) (B) (€) (D)

Correct Option : D

Explanation :
In second figure, we are joining the corners by lines.

Question (104)

32:23::21:7
(A) 13 B) 7
©9 (D) 11

Correct Option : B

Question (105)

Directions (5-8) : Find the odd word/letters/ number pair/number from the g iven alternatives.



frder (5-8): fw v et # & Rver asa/srar/aEan goa/aEa /) gfav |
(A) 3214 — 100 (B) 2531 — 121
(C) 3243 — 144 (D) 1245 — 256

Correct Option : D

Question (106)

(A) Acute angle/sgsT SIoT
(B) Right angle/&@&eioT
(C) Obtuse angle/31f&e hroT

(D) Parallel/FATATX

Correct Option : D

Explanation :
Except (D), others are types of angle

Question (107)

VIO LV L

(A) (B) (C) (D)

Correct Option : B

Explanation :
Except (B), other figures can be drawn with the help of lines.



Question (108)

(A) KAFAN/&sT
(B) MANSAROVAR/ATATRIGR
(C) GABAN/aTae

(D) GRAMYA/IT&=aT

Correct Option : D

Explanation :
Kafan, Mansarovar and Gaban are the books of Munsi Premchand. Gramya is the book of
Sumitranandan Pant.

Question (109)

Directions (9): A statement is given followed by two conclusions | and Il. You have to
consider the statement to be true, even if they seem to be at variance from commonly known
facts. You have to decide which of the given argument, if any, follow from the given
statement.

fa&er (9): v Fy=T AT AT, oS 3 Y s | quT 1l § | U REAR FTE R FuT aAT R

Statements/ & YT

A bird in hand is worth two in the bush./ SITET ST ATAAT H S8R &, & 3de H A HY |
Conclusions/fas&:

. We should be content with what we have./SIT § 38H HdIY e A1faU |

Il. We should not crave for what is not./ai sTgT &, 3ThT STHT AdT el AR

(A) Only conclusion I follows/ el | 3{eTHIOT FHT & |

(B) Both I and I follow/ | 3T 11 21T 3eTEROT & ¥ |
(C) Either I or 11 follows/ 3T AT | IT || 3e]&ROT AT & |

(D) Neither I nor 11 follows/ & @T | 37 |1 3e]8ROT ¥cl & |



Correct Option : B

Explanation :
Both the given conclusions clearly bring out the central theme of the proverb given in the statement.
So, both I and 11 follow

Question (110)

The length and breadth of a room are 12 m and 9 m respectively. Tom runs along all the four walls
and finally along a diagonal order to catch a Jerry. How much total distance is covered by Tom?

FIR Y 1S 3R TS swaer : 127, gUr 9 A, ¥ | SfH FF F IRI AGRT & W algd § 3K
3T SR T Tl & ToIT TaehoT arell g o &Il € | ST GaRT ol fehctel glT o &l ary 2

(A) 40 m/AY.  (B) 42 m/AT.
(C) 57 m/Ar. (D) 48 m/AT.

Correct Option : C

Question (111)

Directions (11-12) : In the following questions, a series is given with one terms missing.
Choose the correct alternative from the given ones that will complete the series:

der(11-12): Prafaf@a weal &, v sreqser e o @ et v ue aoa § [Re s Reedi A 4 a5
e e IATSI HeTHA FT U R

2,3,6517,___ 1675

(A)46.5  (B)50.5

(C)545  (D)625

Correct Option : B

Question (112)



0, 10, 24, 68, 120, 222,
(A) 350 (B) 336
(C) 420 (D) 418

Correct Option : B

Question (113)

Directions : In question no. 13, which one set of letters when sequentially placed at the gaps
in the given letter series shall complete it?

H_JH_IJHHI _HH _JH

(A)IHJI  (B)YHIHI

C©)IHIJ (D)HJHJ

Correct Option : A

Question (114)

Which of the following diagrams indicates
the best relation between Golf, Football and
Cricket?

/=1 # 4 =A-1 Al Tiew, geae g Ewee #
= WEl ey I e 87

(A) (:g (B) OO

@)
(©) o (0

Correct Option : B

Question (115)

There are elephant and peacocks in a zoo. By counting heads they are 80. The number of their legs
is 200. What is the difference between number of peacocks and deer?

Tl FIfSaTert & gl T AR &) 3oTeh ot TR hT FEAT 80 7T IR T HEAT 200 | AR oTAT FBI0T h



FEIT3T &7 A FATE ?
(A) 20 (B) 30
(C) 40 (D) 60

Correct Option : C

Question (116)

Pointing to a photograph Charulata says, "He is the son of the only son of my grandfather.” How is
the man in the photograph related to Charulata?

Teh dEdRX T 31X SURT Hd §'«'3ftllbddl oI hgT,” I8 A GIGT & Shalld 8¢ & 8¢ & || ATSR aTell ST
ITEeIdT  fohd TR TFaTAT & 2

(A) Brother/#TS

(B) Uncle/drr
(C) Cousin/aoRT HTS
(D) Data is inadequate/3TeT 3794Tcd

Correct Option : A

Question (117)

Direction (17) : In quelst_inn‘. noe 17, select the
missing number from the give responses.
Todwr (17) : womt W 17 ¥, fau o famredt § & faem

HE i
8 (16| 2 [12
3|8 |18| 8
62|96
12[16 |18 | 2
(A) 24 B 32
(C) 14 D) 22

Correct Option : A



Question (118)

6|48 [12
8 [12]12]16
3l6|48
16| 8 | ? |24
(A) 28
() 16

Correct Option : B

Question (119)

Arrange the words given below in a meaningful sequence.
fo¥a=T Qreal 1 Ueh ATeieh sl H T TEUT Y |

1. Butterfly/fadelr

2. Cocoon/a Ay

3. Egg/3i3

4. Worm/ajﬁr

(A)1,3,4,2
B)1,4,3,2
(©)2,4,1,3
(D) 3,4,2,1

Correct Option : D

Question (120)

B) 24
(D) 32



A piece of paper is folded and cut as shown
below in the question figures. From the
given answer figures, indicate how it will
appear when opened?

e v Apiadl § fTEd SEE we w0 AEet
FIE 791 Gier & 9% 98 fRE 39 AR i
=2

(A) (B) (C) (D)

Correct Option : B

Question (121)

How many circles are there in the adjoining
figure.

faw . amfa & e 99 €2
A4) 11 B) 12
(C) 13 (D) 14

Correct Option : C

Question (122)



The six faces of a dice have been marked
with alphabets A, B, C, D, E and F
respectively. This dice is rolled down three
times. The three positions are shown as:
T % B: TaE 99l A, B, C, D, E 791 F # #ifFa
forn Ty 21 U w1 A9 AR S T A ffa e
T T

0 @ G

Find the alphabet opposite A.

A F favi| FH-97 Svigen Amm?
(A) B (B D
(C) E o) €

Correct Option : C

Question (123)

Choose the alternative which is closely
resembles the mirror image of the given
combination.

30 faweq =1 w4 w1 = 250 0 g9hEE % g
wfafaa @ wdta s 81

JUDGEMENTE

(A) TNEMEGDUJ (B) TMAMAGAUL
(C) TMAMADAUL (D) LUIHAMAWNT

Correct Option : C

Question (124)



From the given answer figures, select the
one in which the guestion figure is
embedded.

= T I A 5 9, 39 A w G feed
W W e 2l

Question figure /777 3TFH :
Answer figures /377 3T={al ;
(A) (B) () (D)

Correct Option : B

Question (125)

If RAAZ = 62%, AKIRA =95% and SULTAN = 68% then MIRZAYA = ?
I RAAZ = 62%, AKIRA = 95% TaT SULTAN = 68% dl MIRZAYA = ?
(A)62%  (B) 96%
(C)67% (D) 58%

Correct Option : B

Question (126)

The approximate age of the Aravallis range is:
IRTTel T Ao B oo 3 -

(A) 370 million years/370 fAforzeT a¥

(B) 470 million years/470 ATt a¥

(C) 570 million years/570 fAferge a¥



(D) 670 million years/670 fAferga a¥

Correct Option : A

Question (127)

The book "Andhere se ujale ki aur" has been authored by which union minister of India?
QEcTeh “3ER A 3oTTel 1 3R R & fohay shforl a1 egur foredr a1$ & 2

(A) Ravi Shankar PrasadRfaRisht 9&Te

(B) Uma Bharati/3HT HIIAT

(C) Arun Jaitley/31%0T Sicell

(D) Sushma Swaraj/gy#HT Farst

Correct Option : C

Question (128)

How much loan amount has been sanctioned by World Bank for construction of the Eastern
Dedicated Freight Corridor (EDFC)- Il project of India?

HR # gl 373 s HINSN (EDFC)-IIl TRETSTAT & THATOT & forw fareq den g3 fevetelr rarelt s
o fgag g 2

(A) $700 million/$700 fATeRIeT
(B) $550 million/$550 fAfergeT
(C) $444 million/$444 TAferger
(D) $650 million/$650 fAferaer

Correct Option : D



Question (129)

Which country has won the 2016 Kabaddi World Cup?
fohe gor 4 2016 FHas3r faeg T AT g ?

(A) Sri Lanka/#freTenr
(B) Iran/axTeT

(C) India/ReT
(D) China/dYeT

Correct Option : C

Question (130)

Who among the following was associated with suppression of thugs?

AT & @ leT 39T oh ol o A1 53 A2

(A) General Henry Prendergast/afeiiel goXI YS9
(B) Captain Saleem/&TesT Holld

(C) Alexander Burres/3Tolerois el

(D) Captain Robert Pemberton/atdTe e YFacsT

Correct Option : B

Question (131)

The internet allows you to



(A) Send electronic mail/goareifaleh T2l T Thd &

(B) View web pages/ a« USit &Y 3 Tl &

(C) Connect to all servers around the world /T X 7 T3 TRT T Felee R Thd &
(D) All of the above/ 3uded |afr

Correct Option : D

Question (132)

The writs for the enforcement of Fundamental Rights are issued by

Hfereh 3TRHRT & TacieT & faw Ret fonereh g3 SRy fohu ST & 2

(A) The Parliament/&dg,

(B) The President/Irseafay
(C) The Supreme Court/gaT=al =TI

(D) The Election Commission/fa&T=e 3T1eT

Correct Option : C

Question (133)

Which one of the following observation is not true about the Quit India Movement of 19427

RAEIfafad & O ST & 3radiesT (feequit) 1942% HRA BisY el & IR H &I 181 ¢ ?
(A) It was a non-violent movement/Jg 31T 3aTcle AT

(B) It was led by Mahatma Gandhi/ag HeTeHT NI & cjed o fohaT araT T
(C) It was a spontaneous movement/Jg Teh TTHT TS 3G ToleT AT
(D) All of the above/Jg &Y

Correct Option : A



Question (134)

The Pir Panjal range is located in which of the following states?
R gatrel 31 o=t A O ford To A RRYd 82

(A) Arunachal Pradesh/3TS0Trarel 92l

(B) Jammu and Kashmir/sT&H-HR

(C) Punjab/d<Ts

(D) Uttarakhand/3a1@3s

Correct Option : B

Question (135)

In India, agricultural products markets are regulated under:
HRA H TV 3cUIET & STeTR 1 fondt HTATATH fafafde & e fomar i g2
(A) Essential Commodities Act, 1955/3Tdede a&q 3Ta=g#, 1955

(B) Agricultural Produce Market Committee Act enacted by States/& ¥ 3usf STelR GATT ifafaws &
dgd U1 ganT

(C) Agricultural Produce Act, 1937/ 39st 3iffaas, 1973 & dgd

(D) Meat and Food Products Order, 1973/ 3K @I 3cUTe, TG 1973 & dgd

Correct Option : B

Question (136)



Match List | with List Il and select the
correct answer.

-1 F1 gE-11 % 91y gofem #1098 3 w1

TTE Hil
List-1 /g=i-1 List-I1 /¥=1-11
(Functionaries) (Daths or affirmations)
(TEIfT) (¥ 3R T
a. President of 1. Secrecy of
India/qr@ & information f¥=-1
b. Judgesof 2. Faithful Discharge
Supreme Court/ of duties/F+= =+
wim wE @ forde
=
c. Members of 3. Faith and Allegiance
Parliament/ to the Constitution of
AT F W India, 977 & HWiaa=
% ofa fawam 3w faer
d Minister for 4. Upholding the
the Union/ Constitution and
EZACR:E the law/@fa9™ 31w
FIH F FEE @
Codes/=Z:
a b c d
A) 3 4 1 2
B 4 3 2 1
)3 4 2 1
b4 3 1 2

Correct Option : C

Question (137)

Which one of the following statements regarding starch and cellulose is not correct?
Ao fed wue # & T 3R Aofeltst & favT & Si-A1 HUT TEY 761 872

(A) Both of them are plant source/

St ey & e

(B) Both of them are polymers/

gl Sgereh &

(C) Both of them give colour with iodine/

et 3T & Ty Ao Tred &



(D) Both of them are made up of glucose molecules/&lsit Te[ehlsT & UL & &elcl &

Correct Option : C

Question (138)

What is the theme of 2016 World Osteoporosis Day (WOD)?

faeg 3icaaRIfAw fgaw (WOD) 2016 T fawr (2fie) Far 872

(A) Stop at One : Make Your First Break Your Last/Ferd T dsT; A IR HEC b AR ATEC
(B) Love Your Bones : Perfect Your Future/ed I &l Tthare AR T

(C) Real Men Build Their Strength from Within/Raer #s7 faes fear T wiam afea

(D) Serve Up Bone Health/&d 319 SieT 2T

Correct Option : B

Question (139)

Match List-I with List-II and select the
correct answer by using the codes given
below the lists:

-1 %1 gHEi-1 § gafem #1 fag T ogfaa &
Wit § T F2 F1 374N 0 Gel I F 95

&

List-1 /51 List-11/g41-11
a. Fruit/%d 1. Ovule/d=ig
b. Seed/d™ 2. Leaf/9w
c. Wood/@& s 3. Stem/d
d Starch/®H 4. Ovary/3=FHE
Code/®2:

a b ¢ d
A} 2 1 .3 4
B)4 1 3 2
(€):2: 3 A 4

4 3 1 2

D)



Correct Option : B

Question (140)

A metal plate with a circular hole at the
centre is heated. What will happen to the
area of the hole?

7 § 94 (circular) 25 T oy #1 T == H

T fam o 21 foe # g9%e W w yuE w2

(4] Inscreasefiﬁ"'l‘l

(B) Decrease /52T

(C) Remain constant /3@ & =M

(D) Will increase first and then decrease/
weel @2 R =

Correct Option : A

Question (141)

What can the President do if a State fails to
comply with the Directions of the Central
Government?

W T4 F5 N & {20 F29 #1 7o 6 o

fawer =l &, A TAfd F T TEd 27

(A) He can dissolve State Legislature and
order fresh elections/¥% 7= faurd==
AT F WHA ¢ SN T T F AR 2 HEA B

(B He can declare the break-down of

constitutional machinery in the State
and assume responsibility for the

governance of the State/98 =4 7
HauTF 9 % Ta9=3 =1 90 U5 7= % WA
=1 fomierd & "= §

(C] He can send paramilitary forces to the
State to secure compliance /98 I
i w0 # U 7w vt aw g9
w2

(D) Any of the above/3%E T4

Correct Option : B



Question (142)

The river most mentioned in early Vedic
literature is:

fom 71 1 Seeitan 79 Afew @ie § £7
(A) Sindhu/faq

(B) Sutudri(Satluj)/ 9T (F6=H)
(C) Sarasvati/aTE=m!

D) Ganga,/7m

Correct Option : A

Question (143)

Social accounting system in India is
classified into:

A | gmifas o woer &1 A oam F i

fem T & 2

(A) Income, product and expenditure /309,
IR A T

(B] Enterprise, households and government
M, i # W

(C) Assets, liabilities and debt position /%94,
= H =W A feEfa

(D) Public sector, Private sector and Joint

sector /TEAF &4, Fe1 &= AN Tg &9

Correct Option : A

Question (144)



What was the basis for constituting the
constituent assembly of India?

ARG 1 WA T A A F AN a7

(A) The resolution of the Indian National
Congress/ 96@ TEE FiG9 &1 7&E 4

(B} The Cabinet Mission Flan 1946;’%
o9 @ 1946

(C) The Indian Independence Act, 1947/
S Al A 1947

(D) All of the above /9% Tt

Correct Option : B

Question (145)

Which of the following statements are
correct about chloroform ?

frefafan woml § 9 F-9 F99 FE0EH & a1
TEm e ?

a. Liquid fuel/& 397

b. Anaesthetic in nature/¥Hfa ¥ fir=as
c. Produces phosgene /S T &

d Fire extinguisher/#ifqamms: 33

(A) a.b B a, c

IC) b, c D) d,a

Correct Option : C

Question (146)

Which one among the following is used as a
maoderator in nuclear reactors?

Frfafan 4 9 #0-m = 95w % w9 9 e
fivg=t § wE § @A 99 8-

(A) Ozone/ s =M

(B) Heavy hydrogen /=il HEEER

(C) Heavy water/9il =&

(D) Hydrogen perm:idefm?fﬁ'—l AR

Correct Option : C



Question (147)

The first synthetic element made was:
waw yyy fAftda wim Te=-

{A) Radium/ifz@g (B) Lithium /fafass
(C) Curium/#f@8 (D) Francium/%-H@4

Correct Option : C

Question (148)

Rainbow is formed due to

T fFg sfEa & S @ € 2

{A) Refraction and dispersion/#9aqd4 3
farm

(B) Scattering and refraction/9&vq 17
A=A

(C) Diffraction and refraction/faad= it
EEEG

(D) Refraction and reflection /39347 #T
ELEGES

Correct Option : D

Question (149)



Which of the following is caused by the
higher concentration of Nitrogen and
Phosphorous?

/= 9 F TEdeA 30 BIEERE % Ie9ad HiEd
= 0 w7

(A) Eutrophication /ZEiwEHyH

(B) Hardness /T2

(C) Alkalinity /&=

(D) Acidity /3w

Correct Option : A

Question (150)

MNatural dye present in Turmeric is called:
W =6 () W oeesl ¥ HeE B

[A) Cinnamon fSTE=]

(B) Phenolphathlein /®HTasafeT

(C) Methyl orange/fog=a @0

(D) Curcumin /FTHH

Correct Option : D

Question (151)

The orthocentre of a right angled triangle lies

FHRIUT TT T clFdehos, [EUT 81l o-

(A) outside the triangle/f38]sT & aTex

(B) at the right angular vertex/FHhI0T Sllel dTel fieg &
(C) on its hypotenuse/f38sT & HoT T

(D) within the triangle/f38]sT & 37eeX

Correct Option : B



Question (152)

1
If *-3x+1=0, then the valueof x** + x + ;

N 1
— is:
xl‘

. 1 1
g @ -3x+ 1=0%, A+ x+ —+— WA

3
(A) 2 (B] 6
(C) 8 (D) 10

Correct Option : D

Question (153)

A train overtakes two persons walking along a railway track takes 8.4 and 8.5 seconds respectively
to overtake them. The first one walks at 4.5 km/hr. The other one walks at 5.4 km/hr. What is the
speed of the train if both the persons are walking in the same direction as the train?

TS YGTITMST T, YAHATIT b TTY-TTY T Ig &l SATFAAT I IR et H heAr:8.4 3R 8.5 Ahs o9 §| TUH
I 4.5 foralY./deT 1 1T A el T & AR IR A 5.4 el /eier i a1 & 7o T & Yo Hr afy
FIT 8, TTG Gleil cATF LTI ol TR H Tel 3¢ &l

(A) 66 km/hr/faT./aeT
(B) 72 km/hr/faT /erer
(C) 78 km/hr/fhaY. /ereT
(D) 81 km/hr/fa./aeT

Correct Option : D

Question (154)



A dishonest dealer professes to sell his goods
at the cost price, but uses a false weight of
750 g instead of 1 kg. His gain percent is:
UF TEHF AR AT g F wE e T A
=l w0 €, TR 1 L #1750 T % et
W2 F WA FAA E| TAE TG FAwE 2=

11 2
A) 1I7—="% B 16=%
W 17 B 163

(C) 33%% (D) 25%

Correct Option : C

Question (155)

The difference between simple interest and compound interest on Rs.12000 for one year at 10%
per annum reckoned half-yearly is:

12000% (TR T 1 A # HILRUT SATST TAUT Tshae el sATST ol e, 10% TN 7ol X U 8
(A) %25 (B) % 30

(C) ¥ 35 (D) ¥ 40

Correct Option : B

Question (156)

78 persons can repair a road in 12 days, working 5 hours a day. In how many days will 30 persons,
working 6 hours a day, complete the work?

78 SafFd ThaY 5o HI AFAT UfafeeT 5 T 1 ik 12 &7 & X T@eha & 30 eaferd ufafest 6 goe
HTH SH¥eh 38T TS Y FFAT Tt et 7 &Y qrear?

(A) 10 (B) 13
(C) 14 (D) 26

Correct Option : D



Question (157)

The angle of elevation of a ladder leaning against a wall is 60° and the foot of the ladder is 7.6 m
away from the wall. The length of the ladder is:

Teh Wfe GarT &R & AT FART 7 3eeTdeT 10T 6000 § AT &R & uie & Hife Fr aifdsr gy 7.6 7. 8,
ar @fe i aeers &

(A) 3.8 m/HT.  (B) 14.6 m/AT.

(C) 15.2 m/#Ar. (D) 19.2 m/AY.

Correct Option : C

Question (158)

Three partners shared the profit of a business in the ratio 5 : 7 : 8. They had partnered for 15
months, 9 months and 6 months respectively. What was the ratio of their investments?

Fﬁﬂ%@ﬂ?ﬂﬁmﬁ@mﬂaﬁ&?ﬁ o eIl H died ] d A 15 HALlel, 9 HEA 3R 6 HEA
& forT RERER 18| 3oTeh To¥aer &7 3e7dTel &rm AUr?

(A)3:7:12

(B) 20 : 49 : 64

(C)38:28: 21

(D) None of these/3s13] & HIS oTal

Correct Option : A

Question (159)



A, B and C can complete a piece of work in
24, 6 and 12 days respectively. Working
together, they will complete the same work
in:

A, B #in C fadt =M@ %1 #991: 24, 6 @K 12 f=
H =1 %d 2| UF 9™ FH ® w9 § 9% oAl o
T T E-

1 7
(A) 55 day/fF (B) 7 day/f

(C) 3% days/fe7 (D) 4 day/f=

Correct Option : C

Question (160)

A man walked diagonally across a square plot. Approximately, what was the distance percent saved
by not walking along the edges?

Teh &bl 3Tl qaMehR Telie H faToT (faehoT arell &) Terelm §] fohatRT X efel & 3URIT ag ofarstan
fohctel Iferd gt 18T Tolet & Srar?

(A) 20%

(B) 24%

(C) 30%

(D) 33%

Correct Option : C

Question (161)

If the average marks of three batches of 55, 60 and 45 students is respectively 50, 55, 60, then the
average marks of all the students is:

55, 60 3IX 45 ST & it St 3 37eh! &1 AT AL 50, 55 3R 60 §, A Tl oY & 37T T 3ad
EIGEAIY

(A) 53.33

(B) 54.68

(C) 55



(D) None/aIs sTgT

Correct Option : B

Question (162)

The perimeter of an isosceles triangles is

5
544 cm and each of the equal sides is 3

times the base. What is the area (in cm?) of
the triangles?

Tl waigarg fasge 1 9fifafa 544 o, & 300 3941

Hﬁmwmﬂm.aﬂﬁ%maﬂgélﬁgﬁ{aﬂ

gFe (HHPH) | Fifa)
(A) 38172
(B) 18372
(C) 31872
(D) 13872

Correct Option : D

Question (163)

1 1
(1+tan®0) © (1+cot® @) '

The value of 1 +

1 1
1+ {¥tan?0) * [+cot?g 1 7 -

) 2 ® 7

3
€ 3 (D) 3

Correct Option : A



Question (164)

A man took loan from a bank at the rate of 12% p.a. simple interest. After 3 years he

had to pay Rs.540 interest only for the period. The principal amount borrowed by him was:

Teh JTEHT Fohdll dfeh & 12%6p.a T AILROT sTTeT 1 & T HS ol ofdll ¢ Afe clied a¥ & TR ag 5408
ot sa1eT & d W 31ET Y, A 38 gaRT ol 915 A AT HIfFAT

(A) 2500
(B) £1000
(C) %1500
(D) $2000

Correct Option : C

Question (165)

A boat covers a certain distance at the rate of 21 km/hr along the stream and 15 km/ hr against the
stream. The speed of the boat in still water (in km/hr) is:

IS oA1g 21 FreY./ave Fr arfad & arT & w15 farer. /o Srerfa @ art & fFolid ve AfRad gt aa
AT o] Feud Irelt 7 A1d 1 T 317e AT I

(A) 13 km/hr/faT /erer
(B) 15 km/hr/f&aT /erer
(C) 18 km/hr/fRa. /ereT
(D) 19 km/hr/feRa. /ereT

Correct Option : C

Question (166)



An equation of the form ax + by + ¢ = 0 where
a#0,b=0, c=0represents a straight line
which passes through:

ax + by + ¢ = 0 ¥FR F1 UF THHI, 7261 a =0,
b+#0,c=0 %, UF %y i@ F & w8, =

T 2-
(4) (0,0)
B) (1,1)
C) (2, 3)

(D) MNone =i &

Correct Option : A

Question (167)

A shopkeeper expects a gain of 22.5% on his cost price. If in a week, his sale was * 3920, what was
his profit?

Teh GIIIGR 31 5 Hed TR 22.5% TS &1 32T FcAT 8| TG Teh T A, 3T faehr 3920% o, ot
SHET ATH AT HY|

(A) T182
(B) 700
(C) €720
(D) 885

Correct Option : C

Question (168)

If 0.75:a:: 50 : 80, then a is equal to:
T 0.75: a:: 50 : 80 AT a T AT &-
(A) 1.12 (B) 1.2

(C)1.25 (D) 1.30

Correct Option : B



Question (169)

A cistern 6 m long and 4 m broad contains
water up to a depth of 1 m 25 cm. The total
area of the wet surface is:

UF WeNvE 6 T T, 4 0 9 9 1 6L 25 G

TET B IHHT Tl Aag 1 SA%d 76 i)
(A) 49 m2/TP

(B) 50 m? =

(C) 53.5m?*/=F"

(D) 55 m? TP

Correct Option : A

Question (170)

The greatest number of four digits which is divisible by 5,15, 25,30, 40 and 75 is:

AR 3Rt T T3 { T HEATT AT PAT ST 5, 15, 25, 30, 40 3R 75 & qoia: fFsnfara g g
(A) 9000

(B) 9400

(C) 9600

(D) 9800

Correct Option : C

Question (171)



5
A student multiplied a number by Y instead

4
of 5 What is the percentage error in the

calculation?

w Faemel e @ el W W 3 AT AR
wmgﬁwmﬂmﬂ'lmmﬁmﬁwm
o 3fz F1 ylawm F 87

(A) 36%

(B) 44%

(C) 54%

(D) 64%

Correct Option : A

Question (172)

In a 100 m race, A beats B by 10 m and C by 13 m. In a race of 180 m, B will beat C by:

100 #Y. FrEls &, A, B HI 10 . I 3R C &1 13 AL A g ¢dT ¢| 180 Y. Frgls # B, C Fl fohdar A &
&1 9TTan?

(A) 5.4 m/AT.
(B) 4.5 m/AT.
(C) 5 m/AY.
(D) 6 m/AY.

Correct Option : D

Question (173)



Direction (73-75) : The following pie-chart shows
the marks scored by a student in different
subjects-viz. Physics (PHY), Chemistry (CHEM),
Mathematics (MAT), Social Science (S58C) and
English (ENG) in an examination. Assuming
that total marks obtained in the examination
is 810, answer the questions no. 73-75 on the
basis of given pie-chart.

o (73-75) : TrefafE gorm v B g S
witen ¥ fafa=r faws T wifs=t (PHY), 7979 (CHEM),
oA (MAT), SmTias fagm (SSC) 37T 37 (ENG)
¥ U i w1 Iwien §1 O # T witen F v w5 o
810 %1 faw 7u geTiE & W 9T WA H, 73-75 &

T g
NS

The difference of marks between Physics and Chemistry is same as that between
AT 3R T o & 3{ehl &l HAN AT & g TolcdarT gl

(A) English and Social Science/

313N 3R HrATTST T

(B) Chemistry and Social Science/

T 3R HATSR faareT

(C) Physics and English/

ifarehr 31T 33eT

(D) Mathematics and English/

aTford 3R 3RS

Correct Option : B

Question (174)



Direction (73-75) : The following pie-chart shows
the marks scored by a student in different
subjects-viz. Physics (PHY), Chemistry (CHEM),
Mathematics (MAT), Social Science (S58C) and
English (ENG) in an examination. Assuming
that total marks obtained in the examination
is 810, answer the questions no. 73-75 on the
basis of given pie-chart.

o (73-75) : TrefafE gorm v B g S
witen ¥ fafa=r faws T wifs=t (PHY), 7979 (CHEM),
oA (MAT), SmTias fagm (SSC) 37T 37 (ENG)
¥ U i w1 Iwien §1 O # T witen F v w5 o
810 %1 faw 7u geTiE & W 9T WA H, 73-75 &

T g
NS

The subject in which the student obtained 135 marks is:

o1F o fohd fawr # 135 37 gred fhu?
(A) Mathematics/3Tfora

(B) English/373rSiT

(C) Physics/aiifaehr

(D) Chemistry/ &I

Correct Option : B

Question (175)



Direction (73-75) : The following pie-chart shows
the marks scored by a student in different
subjects-viz. Physics (PHY), Chemistry (CHEM),
Mathematics (MAT), Social Science (S58C) and
English (ENG) in an examination. Assuming
that total marks obtained in the examination
is 810, answer the questions no. 73-75 on the
basis of given pie-chart.

o (73-75) : TrefafE gorm v B g S
witen ¥ fafa=r faws T wifs=t (PHY), 7979 (CHEM),
oA (MAT), SmTias fagm (SSC) 37T 37 (ENG)
¥ U i w1 Iwien §1 O # T witen F v w5 o
810 %1 faw 7u geTiE & W 9T WA H, 73-75 &

e

The marks obtained in Mathematics and Chemistry exceed the marks obtained in Physics and
Social Science by:

TTOTT AT TERIA H 1o 37k HITAhT qUT AT a1l F Yo 37t § fohcet 3178 87
(A) 45 (B) 50

(C) 30 (D) 40

Correct Option : A

Question (176)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are
correct. Find out which part of a sentence has an error and blacken the oval corresponding to
the appropriate letter (A), (B), (C). If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

My brother has met (A)/ the President (B)/ yesterday. (C)/ No error (D)

Correct Option : A



Question (177)

My uncle who lives (A)/ in USA (B)/ is a teacher. (C)/ No error (D)

Correct Option : B

Question (178)

Hardly had they entered (A)/ the room than the (B)/ rain stopped. (C)/ No error (D)

Correct Option : B

Question (179)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an
appropriate word(s). Four alternatives are suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening the appropriate oval [ ] in the Answer
Sheet.

Free living creatures are not solitary, every form of life is other forms.
(A) dependent on (B) overshadowed by
(C) Parallel to (D) Segregated from

Correct Option : A

Question (180)

China is big country, in area. It is bigger than any other country Russia.
(A) access (B) accept

(C) except (D) expect

Correct Option : C



Question (181)

The lawyer has plenty of
(A) criminals (B) clients

(C) customers (D) buyers

Correct Option : B

Question (182)

Directions : In question nos. 82 to 83, out of the four alternatives, choose the one which best
expresses the meaning of the given word.

SOLICIT

(A) Failure (B) Beseech

(C) Very bad (D) Excessive

Correct Option : B

Question (183)

LUDICROUS
(A) Ridiculous
(B) Profitable
(C) Disease
(D) Intimate

Correct Option : A



Question (184)

Directions : In question nos. 84 to 85, choose the word opposite in meaning to the given
word.

HINDRANCE
(A) Arrogant (B) Cooperation
(C) Agreement (D) Aid

Correct Option : D

Question (185)

TARDY
(A) Joking (B) Prompt
(C) Happiness (D) Improve

Correct Option : B

Question (186)

Directions : In question nos. 86, four words are given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find the word spelt correct/wrong and mark your
answer in the Answer Sheet.

(A) Baloon (B) Ballon
(C) Balloon (D) Balun

Correct Option : C

Question (187)

Direction : In Question nos. 87 to 89, four alternative are given for the Idiom/Phrase in bold in



below sentences. Choose the alternative which best expresses the meaning of the
Idiom/Phrase and mark it in the Answer Sheet.

Every cloud has a silver lining

(A) To earn money to live

(B) Something that you achieve and proud of
(C) To keep quite

(D) Every bad situation has some good aspect to it

Correct Option : D

Question (188)

To burn one's boats

(A) Go back on a decision
(B) To follow someone

(C) To turn someone angry

(D) To create difficulty

Correct Option : A

Question (189)

To burn candle at both ends
(A) To turn someone angry

(B) To become easily frightened
(C) To waste lavishly

(D) To speak eagerly about something you support

Correct Option : C



Question (190)

Direction: In Question nos. 90 to 92, a sentence/ a part of the sentence is italicised in
underlined. Below are given alternatives to the italicised part at (A), (B), (C) which may
improve the sentence. Choose the correct alternative. In case no improvement is needed your
answer is (D). Mark your answer in the Answer Sheet.

We were all happy at Ranbeer Kapoor being awarded the IIFA Award.
(A) Ranbeer Kapoor been awarded

(B) Ranbeer Kapoor awarded

(C) Ranbeer Kapoor's awarded

(D) No improvement

Correct Option : D

Question (191)

He who will bid the highest will get the product.
(A) who the highest bids

(B) who bids the highest

(C) who would bit the highest

(D) No improvement

Correct Option : B

Question (192)

My aunty couldn't rise up from his bed no more.
(A) any more (B) any farther

(C) any further (D) No improvement

Correct Option : A



Question (193)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives,
choose the one which can be substituted for the given sentence.

A place where mad men are kept
(A) Epistle (B) Repartee
(C) Asylum (D) Megalomaniac

Correct Option : C

Question (194)

A magnificent tomb
(A) Laconic (B) Mausoleum

(C) Souvenir (D) Remission

Correct Option : B

Question (195)

A medicine which induces vomit
(A) Sanctum (B) Recidivist
(C) Endemic (D) Emetic

Correct Option : D

Question (196)



Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions
following the passage. Read the passage carefully and choose the best answer to each
question out of the four alternatives.

Passage -1

The greatest thing this age can be proud of is the birth of man in the consciousness of men. In his
drunken orgies of power and national pride man may flout and jeer at it. when organized national
selfishness, racial antipathy and commercial self seeking begin to display their ugly deformities in all
their nakedness, then comes the time for man to know that his salvation is not in political
organisations and extended trade relations, not in any mechanical re-arrangement of social system
but in a deeper transformation of life, in the liberation of consciousness in love, in the realisation of
God in man.

The author uses the expression 'ugly deformities' to show his indignation at
(A) political organisations

(B) the liberation of human consciousness

(C) selfishness and materialism of the people

(D) the drunken orgies of power

Correct Option : C

Question (197)

The greatest thing this age can be proud of is the birth of man in the consciousness of men. In his
drunken orgies of power and national pride man may flout and jeer at it. when organized national
selfishness, racial antipathy and commercial self seeking begin to display their ugly deformities in all
their nakedness, then comes the time for man to know that his salvation is not in political
organisations and extended trade relations, not in any mechanical re-arrangement of social system
but in a deeper transformation of life, in the liberation of consciousness in love, in the realisation of
God in man.

In this passage, the phrase "God in man" implies
(A) God having assumed the shape of man

(B) neither fully godly nor fully human

(C) man being transformed into God

(D) the divine qualities in man

Correct Option : D



Question (198)

The greatest thing this age can be proud of is the birth of man in the consciousness of men. In his
drunken orgies of power and national pride man may flout and jeer at it. when organized national
selfishness, racial antipathy and commercial self seeking begin to display their ugly deformities in all
their nakedness, then comes the time for man to know that his salvation is not in political
organisations and extended trade relations, not in any mechanical re-arrangement of social system
but in a deeper transformation of life, in the liberation of consciousness in love, in the realisation of
God in man.

People jeer at the 'birth of man' in the human consciousness when they
(A) begin to think of themselves as God

(B) become power hungry

(C) restructure the social system

(D) become mentally deranged

Correct Option : B

Question (199)

The greatest thing this age can be proud of is the birth of man in the consciousness of men. In his
drunken orgies of power and national pride man may flout and jeer at it. when organized national
selfishness, racial antipathy and commercial self seeking begin to display their ugly deformities in all
their nakedness, then comes the time for man to know that his salvation is not in political
organisations and extended trade relations, not in any mechanical re-arrangement of social system
but in a deeper transformation of life, in the liberation of consciousness in love, in the realisation of
God in man.

According to the author, "salvation” of human beings lies in the
(A) extended trade relations

(B) spiritual transformation of life

(C) orgy of national pride

(D) wholehearted participated in political organisations



Correct Option : B

Question (200)

The greatest thing this age can be proud of is the birth of man in the consciousness of men. In his
drunken orgies of power and national pride man may flout and jeer at it. when organized national
selfishness, racial antipathy and commercial self seeking begin to display their ugly deformities in all
their nakedness, then comes the time for man to know that his salvation is not in political
organisations and extended trade relations, not in any mechanical re-arrangement of social system
but in a deeper transformation of life, in the liberation of consciousness in love, in the realisation of
God in man.

In the phrase "the birth of man in the consciousness of men”, A man stands for
(A) power and arrogance

(B) egocentricity

(C) noble human qualities

(D) an idealistic notion of the human self

Correct Option : D



